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4 \E5/92E(10mmAQg)EE#(Cp)=0.24(Kcal/Kg°C)
5. WWERSES: BE 20°C, ASJ/E760mmHg . (8E 65%HNEEESA
IRETS, HRTEAHR
R=SESE (MFRKER) 3 12009/M*3
6. CMM, CFM EEIESOHTHEETS SR, RIERMANGK/BS; &
BRI HERIR/ B,
1CMM=35.3CFM,
—. e
1. B MESHEL#E(H)=LE#(Cp ) x BB (W) x BB AFEFH(4Tc)
E: EE W=R{Z BB AFERUZE
thEl: EE W=(CMM/60) xD
thEN: EE W=(CMM/60)+1200g/M*3
thEN: =8 W=(Q/60) x1200g/M*3
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FrLA: 2#&E(H)=0.24(Q/60) «1200g/M’

2. HEEAEH)=( P[ZER] t [F] )/4.2

3. H—. 1840 0.24(Q/60) «1200g
#15:Q= ‘

SEFRERBS 30°C, &%

P=250W+20W=270W; 2Tf=95-55=40
Q=0.09x270/40=0.6075CMM=2144CFM (A T{EFENXE)

X EmRIEARNBRINEX—EESHMB LA, ETRBTHE
SEER LRI LIRS B RIEANE T, (EFEE (MRS
ERAMUEERARRETE) )
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